o
[N

< o cot(y) >

....................................

<0 > (rad)
o
o [
[ [¢)]

..................

i

-2 -1 0 1 2 3 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_mkFit_TT_base_noSel

—— DQM_mkFit_TT_retrainOldFiles_v2_8iter2_noSel

100

< 00, > (M)
<od, > (um)

BOF -+ : 60F -+ :
A0F -+t ¢ - 40F -] p
20F------¢ e 20F---- ‘ H -l
o AR - oM £
-k 1R . —-20F----4 I .

0 1 2 3 = 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

oo
|

N

QO[T

N : . : a

|

-

el e T
B F . : ! N :
P SRR || B[R KO 1
= JE AL U e
OB et | e 101 A1
o o . . s . :

o 2wt T I
v E : : : } 1911
- l-H-l AL e
o { it } i=
—E--- Ml ' :
2] SIS :

B IR :

e .
B e | o B e R
o SRR N 1 S S -
o r 1
- 1 I .. N

23TT=2 10 T 2 3
TP n (PCA to beamline)



	Contents
	Page 1


